EH0EETIA RO —_RASUREBLTF I BT A REH LR TR R
AIPBOCIDYH—RA SV RICEITB 7Y F IEDORBEEZER

MRADIBE - UBEDER BE %X

CIDY—RFUX 26830l H T BRFAR DI&EST
P S DlRFRR

s Tl SRfrOv

™ Rroepreecreeoene

XFER

PSDHHIRSEE E PSD () #& PSD

sCID (70%, 14876) (O Ny
£CID (25%, 405%1) T
dCID (61%, 23%1) Ty
non CID (11%, 950%) [y
CID+non CID (41%, 2865%1)

iR
1. W&
total CJD (19154§) = sCJD(1487451) + fCJD(405%5) + dCJID(2345)
nonCJD (950451])

2. PSDHIIRSEE :
total CUD > nonCJD (p<0.0001)
sCJD > fCJD (p<0.0001)




